ByxZ2dtfHHEXRE
At BEEREHEFRRAELEASER
TREE (F #ib4m ) HA

AARAERB ¥—F £—7

SRR Rt -
. SHERHPELEEREILERMA  FRUATHS

1.Solve the following differential equations (let y~ = dy/dx, y” = d?y/dx*)

@ y = (6xy - ¥) / (3xy - 6%) (15 %)
® vy~ = ¥/x + ylx - 2/x (15 %)
€ y + 6y  + 9y= 8 &> / (X + 1 (15 %)
d 4x’y” + 4xy -y = 12 / x (15 %)

2. Solve the differential equation by using Laplace transform method 20 %)

”

y + 2y 4+ 2y = &6 (t - 3)
y(0) = y~ (0) =0
where § is the Dirac Delta function and is defined as
o(t) = 1/ eif 0 =t< ¢
= 0 if t <0 or t = ¢



3.Determine the Fourier series of the periodic function f defined by (20 %)
f(t) £ for 0 < t <3
f(t + 3) = f(t) for all t



